
~ 

~ 

~ 

I O I 

PLAN 
SCALE 1:20 

0 

I I I I 

ELEVATION 
SCALE 1:20 

1 TITLEBLOCK &DRAWING NUteERS FORMATTED 
0 ISSUED F[Jf CONSTRUCTIOO 

ND DESCRIPTION 

~ 

11 

~ 

D 00 

AMENDMENTS 

( 

[ 

' 

K,T, DEC'18 c.c. c.c.
A,S, 7.J.01 M,B. F,R.R, 

DRN DATE CKD APPD 

LV PIN INSULATOR 
ITEM NUMBER 3277 

REFER DRG S01-01-03-01 

LV INSULATOR PIN 
ITEM NUMBER 3251 

REFER DRG S01-01-04-01, 
FLAT WASHER &M16 NUT 

CROSSARM TO LV SPACER, 
CONNECTION, M16 BOLT 

60 LONG, 2 x LARGE FLAT 
WASHERS, SPRING WASHER 

AND M16 NUT 

POLE BRACE TO CROSSARM 
CONNECTION, M24 BOLT 

65 LONG, 2 x LARGE FLAT 
WASHERS, SPRING WASHER 

AND M24 NUT 

LV LINE 4 WIRE CROSSARM 
REFER DRG NO S01-01-02-11 

END ELEVATION/ SECTION 
SCALE 1: 10 

DES 
DRN 

PowerWlter CKD 
APPD 
SCALE 

II 
II 

. 0. 

M,BOCK 
R, INNES 
M, BOCK 
F, ROBSON 
1:10 

II 
II 

CONDUCTOR 

26 DIA DRILLED 
BRACE ON POLE 

POWER STANDARD DRAWING 

ASSEMBLIES 
INSULATORS ON LV 'b TOP' 
FOR UNVERSAL POLE CONSTRUCTION 

NORTHERN TERRITORY ISSUED JULY'OO 
A3 DRAWING 

ALL DIM. IN rrm NUMBER SO1-O2-O1-21_______._________& 
DRAFTING STANDARD TD A.S,11OO CAD PRODUCT - DO NOT Al/END MANUALLY AMOT 

https://powerwater.com.au/standard-drawings/S01-01-03-01
https://powerwater.com.au/standard-drawings/S01-01-04-01
https://powerwater.com.au/standard-drawings/S01-01-02-11

